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GCSE Exam Questions: Ratio Scale

1) A map has a scale of 1 : 50 000. The distance between two points on the map is 15cm.

Work out the real distance between the two points. Give your answer in kilometres.

(3 marks)
2) A delivery company uses two mathematically similar cardboard boxes for packaging.
.. &£ Cm
NOT drawn
- accurately
The height of the smaller cuboid box is x.
The ratio of the volume of the smaller box to the larger box is 1 : 8.
Find the height of the larger box. Give your answer in terms of x.
(4 marks)
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GCSE Exam Questions: Ratio Scale

3) A and B are similar solid cuboids.

Cross sectional area A : cross sectional area B=19 : 25

Complete the following ratios.

(a) Length of cuboid A : Length of cuboid B

(2)
(b) Volume of cuboid A : Volume of cuboid B
3)
(5 marks)
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Question Answer Marks
1) A map has a scale of 1 : 50 000. The distance 50 000 x 15 = 750000 cm 1)
between two points on the map is 15¢m. Work 750000 = 100 = 1000 1)
out the real distance between the two points. 7 5km (1)
Give your answer in kilometres.
2) A delivery company uses two mathematically \?’/I —1 a)
similar cardboard boxes for packaging. 3
V8 = 2 )
l:20rx:2x 1)
. Im o Y NOT drawn 2x )
' 5 accurately
The height of the smaller cuboid box is x.
The ratio of the volume of the smaller box to
the larger box is 1 : 8.
Find the height of the larger box. Give your
answer in terms of x.
3) A and B are similar solid cuboids. Cross
sectional area A : cross sectional area B
=9:25
Complete these ratios.
(a) |[Length of cuboid A : Length of cuboid B (a) V9 =3o0rv25=5 1))
3:5 1)
(b) | Volume of cuboid A : Volume of cuboid B (b) 33=27 1)
53=125 1)
27 :125 1)

thirdspacelearning.com

Helping schools close the maths attainment gap through targeted one to one teaching and flexible resources

3



Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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